

Dinner in honour of the Right Honourable John Key, Prime Minister of New Zealand

No of Invit- ations sent	Rep No	olies Yes	Name and Address/ Contact Details	Partner/ Date of Appointment/ Party
Host				
1		1	The Honourable Tony Abbott MP Prime Minister of Australia	
Guest-o	f-Hone	our	I	1
1		1	The Right Honourable John Key Prime Minister of New Zealand	
Official	Party	I .		ı
1		1	Mr Wayne Eagleson Chief of Staff Office of the Prime Minister	
1		1	Mr Ben King Foreign Policy Adviser Department of the Prime Minister and Cabinet	
Prime M	(Iinistei	r's Offi	ce	
1		1	Ms Peta Credlin Chief of Staff Office of the Prime Minister	
1		1	Dr Mark Higgie Senior Adviser - International Office of the Prime Minister	

Dinner

in honour of

The Right Honourable John Key Prime Minister of New Zealand

given by

The Honourable Tony Abbott MP Prime Minister of Australia

Prime Minister's Dining Room Parliament House, Canberra

Wednesday 2 October 2013

Wines

Shaw and Smith M3 Chardonnay Adelaide Hills (2008)

Collector Reserve Shiraz Canberra District (2007)

Menu

Crystal Bay Prawns with a salad of spring peas, avocado and apple and horseradish dressing

Angus Beef Fillet served with a potato gratin and bordelaise sauce

Coffee/Tea Petits Fours



SUMMARY

Description	Amount	GST*	Total	
Food	\$302.01	\$ 30.20	\$332.21	
Beverages	\$23.78	\$ 2.38	\$26.16	

s22

s22

Beverages = \$227,91.

BACKGROUND

FOOD:

Description	No of guests	Rate per head incl GST	Total Cost	
delicatessen (including catering)	6	6.333333333	\$38.00	
seafood	6	13.515	\$81.09	
fruit and vegetables				
meat	6	17.31	\$103.86	
supermarket	6	18.21	\$109.26	
other				
Total food			\$332.21	

^{*} Estimate provided by Chef at residence

BEVERAGES:

Mine llegario est drinko ligio el tra Prostera	Otu	Unit Cost	Total Cost
Wine/beer/soft drinks/juice/tea & coffee	Qty	(incl GST)	
mineral water	6	\$2.36	\$14.16
tea/coffee	4	\$3.00	\$12.00
		\$0.00	\$0.00
		\$0.00	\$0.00
		\$0.00	\$0.00
		\$0.00	\$0.00
		\$0.00	\$0.00
		\$0.00	\$0.00
		\$0.00	\$0.00
		\$0.00	\$0.00
Total beverages			\$26.16

BEVERAGES: CerHos Cellar (do not include in Summary total (reference only))

Wine	Qty	Unit Cost (incl GST)	Total Cost	
Shaw & Smith M3 Chardonnay 2008	3	29.08	\$0.00	87.21
Collector Reserve Shiraz 2007	3	38.17	\$0.00	114.5
other - alcoholic			\$0.00	1 ' -
Total beverages pre-paid by CerHos			\$0:00	201.